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Exercise 1 

1. Solve these equations using the quadratic formula. 

 a)  3x2 + 7x + 2 = 0 (b) 2a2 + 5a + 2 = 0 (c) 3c2 + 8c + 5 = 0 

 d) 2p2 + 11p + 9  = 0 (e) 2y2 + 11y + 5 = 0 (f) 3d2 + 11d + 6 = 0 

 g) 2x2  7x + 3 = 0 (h) 2a2  5a + 3 = 0 (i) 5p2  17p + 6 = 0 

 j) 5b2  7b + 2 = 0 (k) 6x2  7x + 2 = 0 (l) 4y2  11y + 6 = 0 

m) 3x2  2x  1 = 0 (n) 2a2  a  3 = 0 (o) 4p2  4p  3 = 0 

 p) 2c2 + 7c  4 = 0 (q) 6y2  11y  2 = 0 (r) 3w2 + 10w  8 = 0 

 

2. Solve these equations using the quadratic formula, giving your answers correct to 

 2 decimal places. 

 a) x2 + 5x + 5 = 0 (b) b2 + 9b + 2 = 0 (c) p2 + 4p + 1 = 0 

 d) c2 + 4c + 2 = 0 (e) y2 + 7y + 3 = 0 (f) a2 + 8a + 5 = 0 

 g) z2 5z + 1 = 0  (h) q2  12q + 4 = 0 (i) w2  6w + 2 = 0 

 j) d2  10d + 8 = 0 (k) x2  3x + 1 = 0 (l) m2  7m + 4 = 0 

 m) y2 + 8y  3 = 0 (n) k2 + 4k  6 = 0 (o) c2 + 2c  9 = 0 

 



3. Solve these equations using the quadratic formula, giving your answers correct to 

 2 decimal places. 

 

 a) 3x2 + 8x + 5 = 0 (b) 2b2 + 9b + 3 = 0 (c) 2p2 + 5p + 1 = 0 

 d) 1 + 6c  4c2 = 0 (e) 3y2 + 7y + 3 = 0 (f) 5a2 + 9a + 2 = 0 

 g) 8z2  7z + 1 = 0 (h) 3 + 12q  4q2 = 0 (i) 3w2  6w + 2 = 0 

 j) 5d2  10d + 4 = 0 (k) 5x2  7x + 1 = 0 (l) 3 + 8m  2m2 = 0 

 m) 5y2 + 8y  2 = 0 (n) 5 2k  6k2 = 0 (o) 10c2 + 2c  1 = 0 

 p) 8  9t  4t2 = 0 (q) 3 + 3a  7a2 = 0 (r) 2z2 + 2z  9 = 0 

 

 

4. Solve these equations using the quadratic formula, giving your answers correct to 

 3 significant figures. 

 

 a) x2 + 5x + 3 = 0 (b) c2 + 3c + 1 = 0 (c) m2 + 8m + 2 = 0 

 d) y2 + 7y + 7 = 0 (e) p2 + 6p + 2 = 0 (f) a2 + 6a + 3 = 0 

 g) b2  5b + 2 = 0 (h) z2  9z  + 4 = 0 (i) q2  7q + 5 = 0 

 j) x2  10x + 3 = 0 (k) c2  8c + 8 = 0 (l) w2  4w + 2 = 0 

 m) k2 + 12k  20 = 0 (n) d2 + 11d  15 = 0 (o) s2 + 8s  17 = 0 

 p) a2 + 3a  9 = 0 (q) y2 + 2y  11 = 0 (r) c2 + 3c  12 = 0 

 s) 8x2 + 8x =  1  (t) 5b2 + 3b  = 9  (u) 2p2  9p = 3 

 v) 7m2 = 6m  1  (w) 3x2  = 8  3x  (x) 4c2 = 9 + 3c 

 

 

 

 

 

 

 

 



Answers 

Exercise 1 
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2. a) –1∙38 and –3∙62 (b) –0∙23 and –8∙77 (c) –0∙27 and –3∙73  

d) –0∙59 and –3∙41 (e) –0∙46 and –6∙54 (f) –0∙68 and –7∙32 

g) 4∙79 and 0∙21  (h) 11∙66 and 0∙34 (i) 5∙65 and 0∙35   

j) 9∙12 and 0∙88  (k) 2∙62 and 0∙38  (l) 6∙37 and 0∙63  

 m) 0∙36 and –8∙36 (n) 1∙16 and –5∙16 (o) 2∙16 and –4∙16 

 

 

 

3. a) –1 and –1∙67  (b) –0∙36 and –4∙14 (c) –0∙22 and –2∙28 

 d) –0∙15 and 1∙65 (e) –0∙57 and –1∙77 (f) –0∙26 and –1∙54 

 g) 0∙70 and 0∙18  (h) –3∙23 and 0∙23 (i) 1∙58 and 0∙42 

 j) –1∙45 and –0∙55 (k) 1∙24 and 0∙16  (l) –0∙35 and 4∙35 

 m) 0∙22 and –1∙82 (n) –1∙09 and 0∙76 (o) 0∙23 and –0∙43 

 p) –2∙93 and 0∙68 (q) –0∙47 and 0∙90 (r) 1∙68 and –2∙68 

 

 

 

 

 



4. a) –0∙697 and –4∙30 (b) –0∙382 and –2∙62 (c) –0∙258 and –7∙74  

d) –1∙21 and –5∙79 (e) –0∙354 and –5∙65 (f) –0∙551 and –5∙45 

 g) 0∙438 and 4∙56 (h) 0∙469 and 8∙53 (i) 0∙807 and 6∙19 

 j) 0∙310 and 9∙69 (k) 1∙17 and 6∙83  (l) 0∙586 and 3∙41 

 m) –13∙5 and 1∙48 (n) –12∙2 and 1∙23 (o) –9∙75 and 1∙75 

 p) –4∙85 and 1∙85 (q) –4∙46 and 2∙46 (r) –5∙28 and 2∙28 

 s) –0∙146 and –0∙854 (t) –1∙68 and 1∙08 (u) –0∙312 and 4∙81 

 v) 0∙631 and 0∙227 (w) 1∙21 and –2∙21 (x) 1∙92 and –1∙17 

 


